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243 20221017  |+8H| ¥ #5E>38H| 8 58 44,000 |cms 0|88 =

244 20221017  |+8H| ¥ #5E>8H| 8 58 18,700 |HAYES A 0|8QF

245 20221017  |AtR| Mg >R AN EE S 15,000 [KHAX = SAL ZHAH|

246 20221018  |Atz|ME|AfE> AN EEs 13,580 (&N e S M=H|

247 20221020  |Atz|ME|RHE >R AN EE S 16,130 [AHI N2 SBEE ZHAH|

248 20221021 |+8H| ¥ #5E>8H| 8 58 5900 [cms 3 =&

249 20221021 |mSX|E>xEL0IE 30,000 | EEOLE XY= H

250 20221024  |AFS| Al RH &S R OIN| S g S 9,800 |RFEIM| S E AL ZHAIH|




251 20221024 | M2 dE[ME> XA HE S 67,300 |AHANHESALE A AH|
252 20221026  [+=&H| A =+2>8H| 8l =78 13,650 |cms & =&
253 20221028 |WSX|E>I{E80lE 30,000 |XfZHEOIE XY= H
254 20221031  |7|Ef2HH|>7|E2 GH| 120,000 |2022 AMA|.s== AL H A E H4=H]
255 20221102 |7|Et= 4 ZH|>7|Et= 4 HH| 2,110 | At SAR FEX| Y A g8 SH =717t
256 20221110 | A2 dE2[AE> XA HES 7,550 |RHHHEBEl ZHAH|
257 20221110  |WSXE>KE0tE 630 |10 MZ2OLE ZAF F=OIA|
258 20221110 |w S e>Te-E0LE 6,300 (108 X E-EOLE ZAF 254
259 20221110 | e>THe-E0LE 203,070 (108 THE-EOLE ZAHH|
260 20221110 | MM >HE=01ES 203,070 |10E TS=0| ZAHH|
261 20221110 |AFS|AlE|RHE > R QIN| St s 8,700 |KFQIX| & BEF ZHAIH|
262 20221110  |At2| M| >TEE0|2S 6,300 [108 HS=0| ZA &SN
263 20221110  |Ar2| M| A>T EE0|2S 630 |10 F&=0| ZAF FLUAN
264 20221110  [At2|d2|AfE>dE|2s 67,690 |108 H2|2& ZAHH]
265 20221110  [At2|d2|AfE>dE|2s 2,100 [108 HE|2S AL &SN
266 20221110 | M2 d2E>HE RS 210 [102 d2|25 ZA =0
267 20221111  |WSIE>THEL0IE 30,000 118 XjELOIE XY= H|
268 20221114 A3 A 2| R e > A A TLHE| 48,800 |0|- 20! A4 AUm}E|
269 20221115 [=8H| X =E2>58H| 8l =52 18,700 |[CMS 0|8 2 Z(CMSCHZEXLZO[H)) =42
270 20221115 |+8H| ¥ #3E>8H| 8l 58 44,000 |2 HUERL 0|BRF
271 20221116 [7|EF2 4 ZH|>7|Et= H ZH| 60,000 | %@ ek HZE
272 20221117 |7|Et= 4 ZH|>7|Ef= 4 ZH| 20,000 [HY HLMY) ME 78
273 20221117  |AFS| Al &> R QiN| St s 24,000 |XHIR| S BEE ZHAIH|
274 20221118 |WSxE>IHEL0IE 30,000 118 XjELOIE Y= H|
275 20221118 |AFE|Al2| K &H> A It E| 17,800 |0] 201 A AME
276 20221121 |M|dE2[AE> A AN HE S 12,200 | M eSS AL ZHAH|
277 20221121 |AFE|Al2| K &> A It E| 22,900 |O|2QIAANE
278 20221121 |ARE|Al2| K &> A It E| 28,300 |O|2QIAANE
279 20221122 |AbS| Al &> KON St s 4,500 |XFIR|SALE ZHAH]
280 20221122 | M2 > XA HE S 32,500 [RFIHEIALE ZHA |
281 20221122 | MR- XA HE S 33,300 [RFIHEBREE ZHAH|
282 20221122 |+8H| A $+2>58H| 3 52 5900 |cmsEa =58
283 20221123 | M| dE2[AE> A AN HE S 15,860 | XM EBE MBS s W= H|
284 20221123 | A2 > A AN HE S 14,000 | XM EBY MBS E W= H|
285 20221123 |At2] 42| i g > L}E| 51,080 |0|-8QI(2%H) M UIE| Ciut 71 &
286 20221125 | 7|Et2 EH|>7|Et2 gH 160,000 (20234 A1EI} HI}3|
287 20221125 | 7|Et2 EH|>7|Et2 YH 37,000 |2023'4 HEHI} HItg|
288 20221125 |uSME>HEE0E 30,000 |118 XHE-EOLE x| 2 H|
289 20221128 |5=8H| X 42>48H U 42 13,180 [cmsZE8 4=
290 20221129 | 7|EH2 FH|>7|Et2 YH 2,000,000 |2023'H EFAEEE X E
291 20221201  |[AFS|ME|AjE s Ao N EHE s 32,600 [MEe= (B 7HAH|
292 20221202 | ME|H 2| RS> S AME| 17,900 [0|- 890 MUNE 7Y
293 20221202 |mSx|E>IELOIE 30,000 |XHEHEOLE XY= H]
294 20221205  |Atz| M| g > A oM EE s 37,000 |MglgS (AL ZtAlH]
295 20221208  |Atz| M| &> A AKX EE S 11,500 [KFSIA|IE (B ZHAH|
296 20221208 |AbB|Ma|ME s AKX SHEE 1,500 |RFOIM| & (BEY ZHAH|
297 20221209 |mSx|E>IELOIE 6,300 |11 TSROLE ZAF AEA|
298 20221209 |(ZESXE>TEEOLE 630 |118 22 O0LE ZAL FOIN|
299 20221209 |mSX|E>xELOIE 203,070 |11 TYZ2OLE ZAMH|
300 20221209  |7|Et=dZH|>7|Et=HH| 24,000 |&2 4 =5 #0[2 F¢
301 20221212 ALS| A 2| K=t > A QU TLHE| 43,500 |0 8901 M Qz=3}I}E|
302 20221212 |7|EtZ 8 ZH|>7|Ef 2 M | 25,000 (@ £ 3 #o|2 7Y
303 20221215  |+8H| A $2>58H| Y 57 44,000 [CMs 0|82
304 20221215 |+8H| ¥ #5E>8H| 8 58 18700 |2 RAEHL 0|8aF
305 20221215 [7|EF2 M AH|>7|Et2 A 200,000 [BHEE7| M A= S| Al
306 20221221 |+8H| A s2>58H| Y 57 5600 |CMS Ha| M8
307 20221223 |WExjE>IER0IE 2100 |ZHAF A5 A
308 20221223 |mSx|E-xELOIE 67,690 |128 ZAHH|
309 20221223 |mSx|E-xELOIE 210 |ZHAF Z=OIA
310 20221227 (M| M| &> HEo|Eo| &4 A 96,000 |MEHCH=Y =234 ZHAI Q)
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25l 17,652,940




